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Assignment & Solution

Assignment # 3
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¢a= 180" + tan ( Y,— Y, ) 180" + tan —2479.90

=1R0" — 32 17" 26" = 147" 42’
(b) AB2 Az

'\B_\f ( X’) 4 }'f, f,>

=V (2432.55 — 865.20)" + (2047.25 — 4527.15)% = 2933.58 m
) (AU)"| 412
Akl A2 E = 4 B —abcos CE FH

(£049.00)° — (4736.83)" + (2933.58)"
2(6049.00)(2933.58)

cos (2 UAB) =
L £UAB =50" 06" 50°
hae = 1477427 34" — 50" 06" 50" =97°35" 44"
(dy X5, ¥is A
Y = 4527.15 + 6049.00 cos (97° 35" 44" ) = 3727.596 m

Xy = 865.40 + 6049.00sin(97° 35" 44" ) = 6861.325 m
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(AU)” = 6049.00 m

BU)”=4735.83 m

(CU)* = vV (6861.33 — 2865.22)° + (3727.59 — 27.15)° = 5446.298 m
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6361.33 —2432.55
@3 e B 0.935
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727,50 — 204725 |
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3721.58 —27.15 -
(@] )11 ‘ll = (}.679
(b) L™
L, = 6049.00 — 6049.00 = 0.000
L, =4736.83 — 4736.83 = (.000
= 5446.49 — 5446.29 = 0.192
(d) xst va4
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L 0.699  0.605
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A1 0.192




Aedsta TS A FEFA =

L

L
o

13
ol

i =)
T

xo L 0.605 — 0.699 j 0.141 ) y ( 1.006
=096 0- 0699 20308 )| 00130 022 )

X, = 6861.325 — 0.006 = 6861.319

Y, = 3727.596 + 0.222 = 3727.818
(L} §kE- 22} A4k

(1) (AU (BU)° (CU)" 9 #H]2F

(AU =V (6861.319 865.40)° + (3727.818 - 1527.15)" = 6048.965

(BU) =V (6861.319 — 2432.55)7 + (3727 818 — zcm.zﬁ - 4736.909

(CU)°= v (6%61.319 — \r_.w + (3727.818 — 27.15)% = 5446, 444

¢ =Y &9 o & A
@) Ao} ¥

ARHL AAH o2 Adsteiol gou o] Aoz 1o)e) walgo] u$

AL AR At e & Halrl glckas 332)), webr] (ATA)
o ¢= et gl wepA L'SH Hob opa] @Ay "ol

L, = 6049.00 — 6048.965 = 0).035

L, = 4736.83 — 4736.909 = — 0.079

Ly =5446.49 — 5446.444 = (.046

(3) x 3=

; ols O 0 | [J [JUH-J | 5 i
ATT = 991 0.935 O .'_)] —0.079 | = (. 005

(— 0.132 0.355 0.679 H ; 53“3 \ ( 0.001 )
o 0.605 —0.699\/ —0.005 % _ ( —0.002
F=gaml-ten 58l ~500 1=l Coem )

4 =HE U=g
X, = 6861.319 —0.002 = 6361.317Tm

Y,= 3727.818 + 0.001 = 3727.819m




